=3 Fidr#EAR-O-&#Lt- "4 p(adhe)t 24 g

i
kL]

DRTAH P e R P B O31BL( LR S AP e T A R )

I
=
v
?ﬂ\.
T

WA O F e g (7K 8 68,284,000 P 2. 54.98% o

IRAEF CFIETREL HFERFAA KRB EFTEL .

VRO 8 37,544,235 M (H P s 7R 3 25V £ 448 10,414,331 %) o

a BiFIgELRE S %ﬁ S 2 ¥R l%:_]

:J‘
[

Ji

|

P R ORARERL LA AL F AT
Fo-pE R R L A LR ¥ 1 37,544,235 4§
FASEI R Fo R R A A A EEY
= 8 37,503,367 1 99.89%
F $H8# 6,011 0.02%
1B/ A L 18 8 34,857 & 0.09%
;TR O 0%

I8 A B R A BB R B A
N L R

I cHcg = 09324

(A TR o PP §REFR 5 0 PP HREL Y fREAPF AR

WAE T 90 g REE S A BB



‘F

pE
ED

w o
b

»
]
Rt

R A
V

A

E'NS
= e %

=
(= S o

R 4
t

‘4_\
e
E'NS
ey
v

I
o=

%
DY

i I é’{(‘f

&
=Y
She
=
EE

>

@
o
)h-
@
o
@
w0 s sE
IR
.?).Am,

i

EE IR

3R

e
¥

y el
~.
e
@
TS
o

Pt

oo

o
W as

%@Eﬂ»&@q%; PRI FFAT R

.n\:

N

i

)
AR E L ATE R TR
AMHFE R ER kR
ok ECRSIEAEN S IR
> FEEMRTETR

2

I‘FE';‘

l;‘z})‘%)& E_I% * o, /fgf;(

N
]
o

\m 3“
i

%ﬁ&q%ﬁ°
&ﬁigi%ﬁ’@é

W \M i“

%

S kAo

=

ig_\/i‘i{‘arﬁ» I?ﬁﬁ
@@4ﬁﬁéw% ﬂ% YR
LRI S al B N I

%%gﬁi:ulﬁiﬂ

%@%ﬁﬂéﬁﬁﬁﬁﬁ
@ﬁém%ﬁi’@?@%és
EEEN VI I QL

,um@%i%%%

>

ﬁi&ig

BT A AR fr;
Tﬁ’?ﬁujfiaiéﬁﬁii

LT HEA 2R

g > “")ﬁ”"@iz\ A-1E

R A )

HORAZ R AR

RTINS FARA L N E

A AR EAFA L N g

»
>
N

TANRRF AN L4 E

- P

ZBgTHARA LA

o~

Iy
I

»
»
~

Tz AR - OF #4

=1

cigimr A B OF £4

W

I
-

pan)

»
>

I

»
~

I

TR AE- O & Zgranam- O &

=
Iy

=1
I

pan)

>
»

I

MB

N\

N

i |5






